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lagr_asym_us_avg (ppb) 1D pull distribution
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lagr_asym_usl (ppb 1D pull distribution

X2 1 ndf 30.81/ 22

- Mean 0.004435 +0.2413
400 — pO 37.85+19.41 F
r S Std Dev 1.157 +0.1706
300 - B Underflow 0
200 — - Overflow 0
: 4
- | X2/ ndf 0.8607 /5
100 — L
. l l ‘ l Constant 3.91+1.12
r z 1 ! r
0 ® l ]_ l L Mean  -0.06023 + 0.48457
o Sigma 1.544 +0.507
-100 r
-200 — ok
300 — r
ol I AN N N NN [N N [ [N N U (O O I | r
1_
il Ll | il L1y

0
-8 ) -4 -2 0 2 4 6 8



RMS (ppm)

0.8

0.6

0.4

0.2

lagr_asym_usl RMS (ppm)

Ne—

Y S

N

ce—

o e—

~e—

EY

©g—




lagr_asym_us_dd (ppb)
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